20243 20ilat 28 23tols
A 2ot

¥ Zssds(2sd 22/ 25H0s)
Ce: 23t XA

HEE

S - B CLI(3H) - HRAY - BAS Ol &k o Gl o DS
EERES 14,412,403 13,150,707 1,261,696
= 3,543,893
pJ 1,686,403
= 1,803,337
Al 7,248,770
= 130,000
SIS E (S LT/ 250 ) 5,093,894 5,252,331 158,437
= 11,677
p 734,710
= 437,180
Al 3,780,327
= 130,000
EEESNE 3,967,414 4,194,851 227,437
= 11,677
p 734,710
= 437,180
Al 2,653,847
= 130,000
SESSHSEH 105,000 279,000 174,000
307 I2H0IA 105,000 279,000 174,000
02 QIZFAMAIIE X 85,000 259,000 174,000
OZA=SE Z2FOIS 2} sA XJ(2XS
HoH) 7,000,00024%14! 7,000
OYFRY AIRE LAY 40,000
—X JIENZ L2, 07, A (S 80%)
50,000,00024*141x80/ 100 40,000
OYFHSS} M4 U BHAIA(BXS FN)
20,000,00024%14! 20,000
OAE B SESY(ZXE FM)
10,000, 00024%14! 10,000
ORIRIZ &3l N2 (2XS 80%)
10,000, 00024*141%80/ 100 8,000
04 SIZHHALAII R X 20,000 20,000 0
OYF A0l salls|(2X8 FY)
20,000,00024%14} 20,000
SSHSEH L HAKIE 376,850 379,810 12,960
301 YBrENZ 4,050 4,050 0
11 AR S 4,050 4,050 0
OS3H0IEBAF B4 OlHI2 4
90,0002+ 1533 4,050
307 BI2H0IA 372,800 375,760 22,960
02 QIZFAMAIIE R 106,600 109,000 £2,400
OYFARISAAER} ALY XIR(BXS 80%)
25,000,00024*141x80/ 100 20,000




A 230l
M =R E(2sLE/280=)
Eel: E3H0IS KR CEEEN
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OZst=CHl Sotel 2SXA(BEE 80%)
25,000,000 *141%80/100 20,000
Ogx=0{MdeaH 2= A XA(EXS 80%)
31,250,000& *141%80/100 25,000
O30AIY SSEXI(EXE 80%)
13,750,000+ 141%80/100 11,000
Ogx20tst 29XA(BXE 80%)
6,250,000 *141%80/100 5,000
O23=CH MAXJA(BEZS 80%) 25,600
—gx2st 2ot
13,500,000+ 141%80/100 10,800
—FEUIAIE 2,500,000&*141%80/100 2,000
—gER} 205 w2
2,500,000+ 141%80/100 2,000
—G==AIRI ot 281
2,500,000&*141%80/100 2,000
—=)2Z 2ats0ix w2
2,500,000&*141%80/100 2,000
—gF2st 487 w2t
3,000,000&*141%80/100 2,400
—HEAIE 14T 22t
2,500,000&*141%80/100 2,000
—olS2st s ot
3,000,000&*141%80/100 2,400
03 QI HHHE2IHIEE 50,000 45,000 5,000
Ost=05 9Kl 2% NA(BEX8 FYH)
50,000,0002* 14| 50,000
04 QIZISHAIAIREE X 216,200 221,760 A5,560
02024 2= M&E ZBIIQM(EXE 80%)
30,000, 0002 *141%80/100 24,000
ON143] =-S5 01y WIN(BXE 80%)
8,750,000 *141%80/100 7,000
OX= DIZAN EHUS(EXE 80%)
20,000,000 *1A1%80/100 16,000
02024 H=0I=0PHHI0I(EXE 80%)
25,000, 0002 *141%80/100 20,000
O&= OtS0I232E(BEE 80%)
10,000,000 *141%80/100 8,000
Og=0ilz HEAIE(EXE 80%)
20,000,000 *141%80/ 100 16,000
OHXREZ EHESIEE(BEEE 80%)
18,750,000+ 141%80/100 15,000
OO0EI0] HAZ HF=AIDE AIZEH HAO|(RES)
(EX2 80%)
25,000,000 *1A1%80/100 20,000
OHEE ZSIEiAL X2 (B 80%)
25,000,000 *141%80/100 20,000
Og=x M2ESEM(EZS 80%)
9,000, 000&*141%80/100 7,200




2A: S3ol=1
HH: RI=RE(2Y 22/ 230=)
Ce: 230X (Crel: & 2l)
SA - B - G9(3H) - MSAY - BAS Ofl Akt &]E{oﬁ MimEE)
OBMHAY ASSSISAHEXE 80%)
22,500,000&%13]+80/100 18,000
O25H0I=CHH SHAF XK (EXS 80%) 45,000
—HI123] ABAME NS HEUES SEEIRD]
5,000, 0002 141%80/100 4,000
—240I= HEUEE & BRI
5,000,000& x141%80/100 4,000
HES st SSHAL
5,000,000& x141%80/100 4,000
80902
3,750,0002141%80/100 3,000
— N353 SEESAH
3,750,000& x141%80/100 3,000
—2024 ABIHE ZHE
5,000,000& x141%80/100 4,000
—NESSHES it
5,000,0002!141%80/100 4,000
—2024 A2 Mot 2ISRENME
5,000,000& x141%80/100 4,000
—AlCIDF SHst= Al Y£3)
1,750,000 % 141%80/100 1,400
—23 2I=2SH
2,500,0002141%80/100 2,000
—AF0I=2D3A
2,500,000& x141%80/100 2,000
—AFAIRDIRA
7,500,000 *141%80/100 6,000
—gFFHAEM=FH
4,500,0002 *1A41%80/100 3,600
Stiisigdsd 9 XA 28,260 36,660 A\8,400
201 LBt A 8,960 11,560 22,600
01 AFR22t2|H] 8,960 11,560 A2,600
OPCE, eSS S K& 2 ARES
56,000&*10& 560
OE=HAD| SEH L 2AXH]
700,000 %123 8,400
203 Y R=&IH| 16,300 22,100 A5,800
03 AIZH=RHRE=XIH| 16,300 22,100 A5,800
O2=X= FLALRFX 16,300
~2H2N2 FQAE HOAY XA
7,000,000& 14! 7,000
—230l= 2 2R =X
3,800, 000& x 14! 3,800
—HSXE 2 A2 FX
1,500,000/ * 14! 1,500
—=RYD 2 Y42 =
2,000,000& % 14! 2,000




SA: 2502
I 2i=ds(2d2Z/250=)
ce: 230X (Ctol: ®M2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
e = =R
1,000,000& 14! 1,000
—OlEHAE 2 AL E7
1,000,000&* 14! 1,000
308 AHXIEHHISOIE 3,000 3,000 0
07 MXHH2HEE= 3,000 3,000 0
OUsel= 8T Al 23 TXISH2 fE=
3,000,000 14 3,000
(D) XL Zs A2 13,500 15,000 21,500
& 4,050
Al 9,450
307 2I2+0| ™ 13,500 15,000 21,500
= 4,050
Al 9,450
02 QIZHHAAIEE X 13,500 15,000 A1,500
OXYSBARY 29 KA
13,500, 00024 %14 13,500
= 4,050
Al 9,450
N =oAEE S 30,000 30,000
307 2I2+0| ™ 30,000 30,000
02 QI B AIEE X 30,000 30,000 0
OXL252AIY 28 XA (E2XE 90%)
30,000,000 %14 30,000
(R)STWoSZA N 23,354 46,701 23,347
= 1,677
& 3,503
Al 8,174
307 2I2+0| ™ 23,354 46,701 N23,347
= 1,677
& 3,503
Al 8,174
02 LB AAIEEE 23,354 46,701 N23,347
O=%E0F Ol=ZAL XA
23,354,000& 14 23,354
= 1,677
& 3,503
Al 8,174
sSHsES=U3 20,000 20,000
307 2I2+0| ™ 20,000 20,000 0
04 QIZFHAIAIIE XL 20,000 20,000
OSHs g S23duzl(2xs o)
20,000,000 * 14| 20,000
(Z)EN2SESEH 41,020 41,020 0




SA: 25H0a
I 20 =TE(RIL2Z/ 230 =)
Hel 23X (cro): =2l
A - BE - BRI(E) - KIRA - BAS ofl e Gl imE=T
[ 9,040
Al 31,980
307 2I2H0| & 41,020 41,020 0
[ 9,040
Al 31,980
02 QIFAAAIRIE R 41,020 41,020 0
@EmE- S e b SN
41,020,000 % 14! 41,020
[ 9,040
Al 31,980
AL 80,000 70,000 10,000
307 212+0|& 80,000 70,000 10,000
04 QIZFSHAIAIIE X 80,000 70,000 10,000
ORIBE| AHSFIH(EXES HH)
80,000,000 %13 80,000
(E)23E ey 21,000 22,000 A1,000
[ 1,000
Al 20,000
307 212+0|& 21,000 22,000 A1,000
[ 1,000
Al 20,000
02 DIZFHAAIIE X 21,000 22,000 A1,000
O=ststn 2% 1
10,500, 0002 %274 A 21,000
[ 1,000
Al 20,000
ABHOl = Kl 80,000 70,000 10,000
307 QI2t01A 80,000 70,000 10,000
04 QIZFSHAIAIRIE X 80,000 70,000 10,000
OMI31E ABUER(EES HH)
80,000,000 *13] 80,000
(E)E=5DA2H 4,300 5,500 A1,200
[ 1,300
Al 3,000
307 212+0|& 4,300 5,500 A1,200
[ 1,300
Al 3,000
02 QIFAAAIIE R 4,300 5,500 21,200
OZ51A 29 4,300,000 %14l 4,300
[ 1,300
Al 3,000
Ho| QA AER} K& 120,000 120,000 0
307 212+0|& 120,000 120,000




2L 2st0=1
I 2i=ds(2d2Z/250=)
Hel 23X (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
02 I B AEE X 120,000 120,000 0
02024 Bl QAAER} KB (Ex8 HAY)
120,000,000 14! 120,000
KNSS3t 22 = e XA 470,000 320,000 150,000
307 212t01 ™ 470,000 320,000 150,000
02 QIZHHAAIEE X 470,000 320,000 150,000
OEIS00| 2= AIZ8 "HS0i0] 3&=01,
LM (EEE ZH)
250,000,000 *14| 250,000
OFRXZE =dM(2xs 3A)
100,000,000 * 14| 100,000
02943 o4l HA NA(SEE FN)
120,000,000 14 120,000
(=) SE2ans2ZoI2 1,064,700 945,120 119,580
Jl 734,710
& 98,997
Al 230,993
307 2I2+0| ™ 1,064,700 945,120 119,580
Jl 734,710
& 98,997
Al 230,993
02 I B AEE X 1,064,700 945,120 119,580
Osg=s0l8d At
1,064,700,000&x14] 1,064,700
Jl 734,710
& 98,997
Al 230,993
H== /Yy 14,000 14,000 0
307 2I2+0| ™ 14,000 14,000
04 QIZIHAAIH E X 14,000 14,000
Od= =HMLH MHz(EXS 80%)
17,500,0002 #141x80/100 14,000
(2)3EEY MRS 58,200 60,000 1,800
= 16,200
Al 42,000
307 212t01 ™ 58,200 60,000 1,800
& 16,200
Al 42,000
02 QI B AAEE X 58,200 60,000 21,800
O8I MI2SHE| L SHAIHAZ
58,200,000& 14 58,200
= 16,200
Al 42,000
H=RYUSEI|H2AHAIKA 10,450 10,450 0
307 2I2t01™ 10,450 10,450 0




SA: 2502
M o= E(25L 2/ 230=)
o2 2sol=X& (Crel: & 2l)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
VIEREIONEEES 10,450 10,450 0
OBFOLIIIHE] HAKIR(SZS 80)
13,062,500+ 141%80/100 10,450
(Z)Z=s4dbloBtHoIed 15,600 18,200 A2,600
& 4,700
Al 10,900
307 212t01™ 15,600 18,200 A2,600
& 4,700
Al 10,900
02 CIZHEAAIRIE X 15,600 18,200 A2,600
OZ=HUI0PHHI0I 29 (W)
5,600,000 * 14! 5,600
= 1,700
Al 3,900
OZ=&Hlotdol 28 (&H20HH)
10,000,000 * 14 10,000
& 3,000
Al 7,000
OrS0l10 |18 etsl X 16,890 16,890 0
201 L2 3F| 15,000 15,000
03 A2ZEH| 15,000 15,000 0
O0t20/00| w2El 29
15,000,0002% 14! 15,000
301 EtEdEZ 1,890 1,890 0
11 EALHIXIRAZ 1,890 0 1,890
Ootsoloko|etetsl IR 0|
90,0002 x7H+3Y 1,890
1480IEAAHIN 29 170,000 160,000 10,000
307 212to1™ 170,000 160,000 10,000
05 BIZtRIEZ 170,000 160,000 10,000
O1480IEAHI RIE 22
170,000,000 * 14 170,000
(R)ZEES2HENHBHEHESIEZAY 18,000 28,500 210,500
= 5,400
Al 12,600
307 212t01 & 18,000 28,500 210,500
& 5,400
Al 12,600
02 CIZHEAAIRIE X 18,000 28,500 A10,500
OZ=EEFHUEAHE MY 23S EALXA
18,000,000 * 14 18,000
= 5,400
Al 12,600
(Z)ABAMHZT HS2SEHAL 30,000 30,000 0




2AM:
T ZH -
o /e

cH):

Estil=nt
2o E (2L 2/ 251H0=)
Zatl=X2

HEE

2A - FH - GR(3) - MRAY - BYS Ofl Ak oA il o {[ImE=ST
= 3,000
Al 21,000
307 QI2H0IA 30,000 30,000 0
= 9,000
Al 21,000
04 DIZEIATAIR 2 30,000 30,000 0
OABAMH U BESADILH
30,000,000& 14 30,000
= 9,000
A 21,000
(Z)ME20=M A AA 54,000 60,000 26,000
= 16,200
Al 37,800
307 CI2H0IA 54,000 60,000 6,000
= 16,200
Al 37,800
04 DIZEATAIR 2 54,000 60,000 6,000
SRS ]
54,000,0008*1 4! 54,000
= 16,200
A 37,800
(T) 2ASSIRNNS T HAIS (G4 (M BHAL) 200,000 740,000 A540,000
= 80,000
Al 120,000
308 XX SISO 200,000 740,000 540,000
= 80,000
Al 120,000
13 212 S0l S A= SIS A 200,000 740,000 540,000
OSBI=STATAAIR(012E)
200,000,000& *14! 200,000
= 80,000
A 120,000
()AL st 141,290 142,000 AT10
= 11,290
= 130,000
307 glztold 141,290 142,000 AT10
= 11,290
= 130,000
03 g E g2 141,290 42,000 ATI0
ORlgesia 2| N
141,290,000& * 14! 141,290
= 11,290
= 130,000
(D) U NFE=3 18,000 20,000 A2,000




SA: 2502
I 2i=ds(2d2Z/250=)
ce: 230X (Ctol: ®M2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
& 4,500
Al 13,500
307 2I2+0| ™ 18,000 20,000 22,000
& 4,500
Al 13,500
02 I B AEE X 18,000 20,000 22,000
ORU2etuFS=3
18,000,000& *14] 18,000
= 4,500
Al 13,500
(Z)HZSMSX2S0IESEEAY 300,000 350,000 50,000
& 100,000
Al 200,000
201 Let23| 270,000 0 270,000
& 90,000
Al 180,000
03 A2 270,000 0 270,000
OHT= M1EXl 2302 ZLA (34
270,000,000 14! 270,000
= 90,000
Al 180,000
307 2I2t01 ™ 30,000 175,000 145,000
& 10,000
Al 20,000
02 2B AEE X 30,000 175,000 145,000
OHT= M1EXl 2302 ZLA (34
30,000,000 * 14 30,000
& 10,000
Al 20,000
(Z2)RXZ SEUZ KZAZ 97,000 100,000 A3,000
= 27,000
Al 70,000
307 212t01 & 97,000 100,000 A3,000
= 27,000
Al 70,000
04 QIZHHAIAIHE X 97,000 100,000 A3,000
O=XZE =dUiz XN3A
97,000,000 * 14 97,000
& 27,000
Al 70,000
(D)HA2S R RL=X~ 30,000 34,000 /4,000
= 9,000
Al 21,000
307 2I2t01 30,000 34,000 /4,000




SA 230ED
M SH0=TS(23YL P/ 280E)
Hel 23X (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
< 9,000
Al 21,000
04 QIZFHAPAII B 30,000 34,000 24,000
OME HEH StEEYA
30,000,0002% 14} 30,000
< 9,000
Al 21,000
(D)EENa 2N 86,000 0 86,000
S 36,000
Al 50,000
307 2I2H0IA 86,000 0 86,000
< 36,000
Al 50,000
02 QIZFAAAIIEE 86,000 0 86,000
Ogsste 2%(8t2, Mina S)
86,000,00021%14] 86,000
< 36,000
Al 50,000
EE=EESEEINE 200,000 0 200,000
308 RFXISHISOIA 200,000 0 200,000
13 ZDI2SICHEZ A E RAEAIIH 200,000 0 200,000
O=310! YF 365 29
100,000, 00021 %1 4! 100,000
O=30&s0/E 2
75,000,00021% 14} 75,000
o230 AF A4 2
25,000,00021%14] 25,000
SHIDF SRR 2 Y 30,000 0 30,000
201 Ler2g| 20,000 0 20,000
03 A2 ] 20,000 0 20,000
O«HIDE X0 2%
20,000,00024%14] 20,000
301 YBHERZ 10,000 10,000
11 BARHIXI2 10,000 10,000
O&HIDF SXI20H AL 2
10,000,0002/%14] 10,000
EENEEE 270,980 278,480 27,500
SAAHEZ 212 270,980 278,480 27,500
101 Q1248 61,846 61,110 736
04 JRINI2ZRSE 61,846 61,110 736
OMBZ HE OH{ L T203 2% 22X
78,880 @1*2% *242 38,178
OB HE oHi ¥ T2z 2% 22X
FRad 78,8302 2 x50 8,204




2A:
PSE
o /e

cH):

E3t0li=ut

[

[

Z3tAIE 2

:

2o E (2L 2/ 251H0=)

SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OMEZ X o & T2 8 2F 224
oIXRZEIAL 78,880 20*2%x 12 1,894
OMEZ HitEs 29 2 orFpe| 224 218
78,88021*22 %20 3,156
OMEZ HI 24 29 U orFpie| 22X =54
78,8802+ *4L 632
OHEZ Hx = olzof
78,8802 5 *4 U +53] 7.883
OMlglz gHl =g ol
78,8302 *3 *22 +43] 1,894
201 LBr2 | 194,134 162,370 31,764
01 AF2Zel] 78,064 26,500 51,564
Ogzz EXN+E 5024%30, 0000H 1,500
OTAI 225 +¢ 700,00024% 14! 700
OFAIR AAHIH L MAIBXZS HZ
1,000,00024% 14! 1,000
oM s2= X 1,00020%5, 000 5,000
O#AL 28 HiH L S50t HIX
60,00021% 10ZH*43] 2,400
OZT5I=Al B 2L
20,0002 * 108t Ax 122 2,400
OMYD| E2H 25(75L) 7
1,47024+100& 122 1,764
OMEB T HAZe ZHUETD S ATE Y
170,00024 x5 5+23] 1,700
OMEZ HitEs 29 SZHE Axi2
500,000 *20) Ax 12l 1,000
OMEZ Hiet2s 29 g4 Y
1,000, 0002 %1 4! 1,000
OEANTY 500,00024% 14! 500
OMEZ EHOIX 22
400,000 * 122 4,800
OMEa2 =] dExg 35,0002« 122 420
OME2 diol gz 100, 0002 % 12 1,200
oM s 2 3,440
—El=0 HA 60,0002 %23 120
—299Rls| Eastt X2
100,000 * 13223 2,600
— 2% ofH|BA
120,0002 *32*23] 720
Oogd s Ite =2 20,000 %122 240
O, JIHEH ARZE ¢
100,000 *10Z+23 2,000
O=S AHIE &t 7
2,000,000 * 14l 2,000
OXI| orEZI2| B 242
650, 0002122 7,800




2AM: 2ol
M =R E(2sLE/280=)
tel: E3tAlg2ie) (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
Os2IIANE SRzl
400,0002%128 4,800
O2=axelAld |X2el e
500,0002% 12 6,000
OLEAIS otdze]| T =2
450,000+ 122 5,400
OME2 A 94| 21,000,000 %14l 21,000
02 2223H| 110,070 135,870 225,800
O™ 22 5,600,000 %12 67,200
Oa=E 2= 150, 0002 * 122 1,800
O 23 60,00021% 122 720
Q™I &JIBMZE 1,000,0002413] 1,000
OAUBIIE &3 22
500,000&*23| 1,000
Otted2s EZAL =258
300,0002+23] 600
OXlote £=EHAL =22
300,0004%13] 300
OMER A5 15021%3,600M *x53] 2,700
OME2 ALY Ui=tZed L AL
10,000, 000&*13] 10,000
OME2t 28 HA 3,000,000 %13] 3,000
O=283 & 800,0002/%23] 1,600
Ooutdz+ 283 A 800,000 *63] 4,800
OodHeEl)| SXIE4
100, 00024 +52CH* 18] 5,200
O8stx A 150,000 %13 150
OAlE SXI84:(154 0I5t
2,500,000 x43] 10,000
03 A2ZEH| 6,000 0 6,000
OME At 2 1,500,000 %43 6,000
206 =4I 5,000 8,000 A3,000
01 =4I 5,000 8,000 A3,000
OYEo LHAM S 7
100, 000543 2,000
OMEZz e 29 M|
3,000,000 *14! 3,000
401 A EBIZ 20| 10,000 30,000 A20,000
01 Al&H| 10,000 30,000 A20,000
O0t2IBE 22| & RAB+
2,000,000 & *53| 10,000
=22 ME XA 855,500 779,000 76,500
2ot 29 XA 855,500 779,000 76,500
207 AN 10,000 10,000 0
01 H2E249| 10,000 10,000 0




A 2stol=1t
33 Fssds(2ss22/250s)
el 2t X9

SN B SL(3) - MBAY - BaS Ofl b Gl MimE=T!
OG T2t THE FAAR HI}
10,000,000 %14l 10,000
306 2012 845,500 769,000 76,500
01 012 845,500 769,000 76,500
OYF251 2B 2
845,500, 0002 *14! 845,500
DR |8 BtE U Re|(25tY R/ 25H0=) 197,673 452,677 A255,004
DHRRpRONE 197,673 452 677 255,004
EEENEESTE 128,753 202 457 A93,704
101 I2AH] 4,733 46,961 A42,228
04 JIH2Z2XEES 4,733 46,961 A42,228
OYZE ZHAAZSIHRl RAALS BHHEAH| 012
78,8802 %52 %22 %63 4,733
201 LBt 28,520 33,520 5,000
01 At22el| 12,120 17,120 5,000
OR3tAte 2t M2t K24y
100,000 +8Z 53 4,000
OS3tAtY 2t M2t &40i|
90,0004 x8H*33] 2,160
O/ DE 21| 2ZH
35,0002 %128 420
O#l=0! M= 60,0002 *3 %33 540
O23H E22 M= 2 ol
2,00024%2, 5005 5,000
02 2Z2%Y| 16,400 16,400 0
OPHsF J|E @Rl XA ®D|R2
150,0002* 122 1,800
Oz ZUHAAZ2IH2] cotv(E!, JD|) 22
200,00024 122 2,400
OAEHA D8 ST 22|
5,000,000 * 14! 5,000
OAEHN DE FD| - AST A2
350,0002 122 4,200
OAHEHA E BHHA| AR ALRE
50,0002+ 122 3,000
206 M2t 500 500
01 HEH| 500 500 0
OYZE 2UHAIRSIHR| TAALY SHHATH 222
500,00024%1 4! 500
401 Al&HIZLS0HY] 95,000 134,000 39,000
01 Al&H] 95,000 134,000 39,000
SHDBR| (PEXIRI2EHHD) ZAAY SEFH|
5,000,000 * 14l 5,000
OR42AZX| (LEXIRISEHD) ZAAY
HYB2HEE) =4 70,000,000 %1 Al 70,000




2A: 2500
HI: 2 JIE BE 2 22|(232 2B/ 235100)
ol 2 ARONE CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OSER3M 212 EAY
20,000,000 % 14! 20,000
Ao MESSHHEECA 29 68,920 0 68,920
201 LB 38,920 38,920
01 AFRZ2IHI 1,000 1,000
ONE25HER RFY
250,000 42 1,000
02 222 37,920 0 37,920
OIS AREZR &I Q2
1,200,000 %122 14,400
ODISYUAIRIZR AlaE 22
100,0004% 12 1,200
OlIZSHAER S8 Q2
60,0002 %122 720
ODISYAIRZ R 52| RX22| 2
4,000,000 % 14! 4,000
OOI2 A2 2 AI|otA 2| 29
2,000,000 % 14! 2,000
OOIS AR 2 ABAIL OHF 2| 89
450,000 %128 5,400
OFESIMES SR RS )2
200,0002% 122 2,400
OS5 SZED LOIAHIAIAL A
400,00024+ 122 4,800
O3 2221 A3
250,000 % 12 3,000
401 Al&HIL S 0HY] 30,000 0 30,000
01 Al&H] 30,000 30,000
ONSSFHE X HE A
10,000, 0002423 20,000
OHESSHE R AL SX24
2,500,000 %43 10,000
SSHEN L MS(2SUAZ/25HH) 8,986,022 7,314,317 1,671,705
= 3,532,216
p) 951,693
[ 1,366,157
Al 3,135,956
S22l 4,261,922 3,820,217 441,705
= 345, 188
p) 951,693
[ 633,310
Al 2,331,731
25 2ZE 2 223y 682,928 781,847 A98,919
101 Q124H] 14,184 13,853 331
04 2RISR 14,184 13,853 331




2A:
PSE
o /e

cH):

og toi fo

30 [0 MO

Holl= ot
HHEXA & MS(2st2t2/238HH)
Z3H el

SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OEENIEEEEEIIEET
78,8002 *2 & *32U %3074 A 14, 184
201 YEr2 %] 92,904 109,654 216,750
01 At=alt] 30,100 34,010 23,910
O3 30 A310] S9F L mat
20,0002+ 10074 4 2,000
O3 Ls0ie AERIR 4
100, 00021+524+93] 4,500
OR8N X2A| 5lo| Eadact
70,0002 x2H*53 700
ORI K2 319 20|
90,0002 x2H %53 900
ORIMXE 22D
1,500,000 37§ A#23] 9,000
O=E8D 2XUX2
13,000,000 %1 4! 13,000
02 2229 62,804 75,644 12,840
OSX25H ®I| - JhA QLML 2aE
1,000,00020%14! 1,000
OR&0IE 2282 14,800
—240IS oHEAHIoIE =4 ®I|R2
50,0002 %122 600
—24012 JIRE ®IIQ2
600,00024% 122 7,200
—240IE FXE FEA M2
100,0002* 12 1,200
—240IS AR Y MERS XMI|Q3
400,0002* 122! 4,800
— 24012 20| AT SEAA
500,00024+235] 1,000
ORH0IS JIEIE SXI24H|
500,000 %123 6,000
OzdiizdH 2eies 4,200
—YITHAIAE Y CCTV ®DIR2
300,00024% 122 3,600
—JtEs WIKks 50,0002* 122 600
OIIES OHOHOIZHAIZEA L Of2hERAL COTV(S A,
)2 150,0002* 1224 1,800
OEESD =X IR U Aggs XM)|Q3
400,0002* 122! 4,800
OsM=z Hig= 50,00081% 122 600
OQISHNEE SBHAIZ HI|Q2
300,00024% 122 3,600
OHEAL AYAIL ®IIR2
400,0002* 122! 4,800
OHIRE JIRE M2
150,0002* 12! 1,800




S2A: 25H0s
HE: 2N L HS(STHUR/25H)
Ee: SEEsHH2e] (Ctol: ®M2l)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OHIZAF 22AE dJe=
400,0002% 122 4,800
OO0IAHA R 22122 8,604
—JI2S U SIEAl ®I|IQ2
400,00021% 122 4,800
—2EQ2 20,00021% 122 240
—OIAA R SHHAIAEL AIRS
297,00021% 122 3,564
O3 =8 JIEIA SXIE4H|
1,000, 000263 6,000
206 M=l 600 600 0
01 XH2H] 600 600 0
O3 W= 22Xy SE2¢
50,0002* 12 600
207 ARIN ] 75,000 80,000 A5,000
01 oimg oy 75,000 80,000 A5,000
O23H NHAH ¢ 28 1o
25,000, 00024241 50,000
OXFSSI SMHA 512I|E =y
10,000, 000 R *2A! 20,000
ORH0IS HESISL2D YE2 ME 29
5,000, 00024% 1Al 5,000
301 YBHEXZ 9,200 9,200
14 J[ErEAZ 9,200 9,200
O=R&R2l0l & 6,000
— XU 222 2|0l Lt
300,000+ 1 122 3,600
—U=EE B Q| A elol £
50,0002 *4 % 122 2,400
ORC|EE PEOI g
3,200, 00024% 14l 3,200
307 QI2H0| & 23,540 23,540 0
02 DIFAANAII B X 23,540 23,540
OZEUZ SA NA(EXE 80%)
2,000, 00024%23|%80/ 100 3,200
OALNS BAF K (BES 80%)
2,000, 0002/%23|%80/ 100 3,200
O2JAM Y BHAF XIR(EXS 80%)
2,000, 00024%23|%80/ 100 3,200
OS2F SAF X (BXS 80%)
3,000, 00024%131%80/ 100 2,400
OO0IAM R SEAF XIR(EXS HoH)
2,400,000 13] 2,400
OHOD|IEES 25 L 2A2|(2XS 80%)
743, 75021% 1221%80/100 7,140
Obil==aitl SH X (2EXS 80%)
1,250,00024%17H A*80/100 1,000




2A:
PSE
o /e

chel:

=2
HL
&

30 [0 MO
ogh toi toi

HEE

2A - HH . H(SH) - MRAIY - BES Of] &K o1l Aol Hws2
O24Uz foig Hel X2 (Ex8 80%)
1,250,000 * 17§ A*80/100 1,000
401 AIEHIZL 20| 467,500 540,000 272,500
01 Al&d] 467,500 540,000 272,500
o213 23 Ex-At
250,000,000 *14] 250,000
O23tM =HEH| At
60,000, 0002 *14] 60,000
OS2 ot 2] 9 X2
2,500,000 *8IH A 20,000
O23M 0|3 E 22| & X2+
1,000,000&*107 & 10,000
OR40tg 2 &l 34l gxz
1,500,000&*53] 7,500
OAIDA A AN 100,000,000 14! 100,000
OR4E0IE2 NEF AXI(F0IE0{0lAH
20,000,000 * 14! 20,000
HXEZa 2& ¥ E+84| 300,000 300,000 0
402 QIZHERHE01A 300,000 300,000
01 QIZENGEAMSE AR (XA ) 300,000 300,000 0
OHIXIE 23 E=AMP(BXE 70%)
300,000,000 14! 300,000
(D) EXNE 2 HEArS 632,000 532,000 100,000
[ 316,000
Al 316,000
401 AIEHIZL 20| 632,000 532,000 100,000
& 316,000
Al 316,000
01 Al&H| 632,000 532,000 100,000
ey B4 89
40,000,0002*14] 40,000
& 20,000
Al 20,000
OLEAI QA KISE2=
151,000, 000& * 14 151,000
= 75,500
Al 75,500
OS4A B2t & E2A X2 B+
127,000,000 * 14! 127,000
& 63,500
Al 63,500
OEEe| ALK 2=l &L FHEY|
118,000, 0003 * 14 118,000
[ 59,000
Al 59,000




2L 23t0=1
T SHYST U S(SHUVR/2)
ol REesse (choy: 242
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
O7210% ol 24 EAHES
32,000, 00024141 32,000
& 16,000
Al 16,000
Os|2A Satd 24 & FEFH|
164,000, 00021141 164,000
= 82,000
Al 82,000
(2)HEAE B ZHI(Z2A HHEZH 2 442 XS 240,000 220,000 20,000
22)
= 120,000
& 36,000
Al 84,000
402 BIZtAH=01 M 240,000 220,000 20,000
= 120,000
= 36,000
Al 84,000
02 BIZAHE ARG 2 (01X THS) 240,000 220,000 20,000
OZ A UIEZd & 442 As 2=
300,000, 0002 x141%80/100 240,000
= 120,000
= 36,000
Al 84,000
(D)ESAE 24 ZHI(TEA LEEH 2 4= 2=) 64,000 0 64,000
= 32,000
= 9,600
Al 22,400
402 212tXH=01H 64,000 0 64,000
= 32,000
= 9,600
Al 22,400
02 BIZAHE A 2 (01X THS) 64,000 0 64,000
OTEA SEHEN Y A= 2=
80,000, 0002 x14+80/100 64,000
= 32,000
= 9,600
Al 22,400
()2 MXIZoIesH XA 15,600 14,800 800
= 4,680
Al 10,920
307 2I2t01 ™ 15,600 14,800 800
& 4,680
Al 10,920
02 It B AAEE X 15,600 14,800 800




SN 2502
A RIMEN L MS(SsL22/235HH)
ool mEEsH2kl CEREERD
SN - B O9(3H) - HEAR - BAS ofl by e HDS2
SECRIENEENE] 15,600
—XYHHELEHFAI2
8,600,000 *14] 8,600
= 2,580
Al 6,020
—AFEIIRMEET]
7,000,000& x 14 7,000
& 2,100
Al 4,900
(D)X T2 EH22|HI XK 34,330 36,650 A2,320
= 10,300
Al 24,030
101 Q124d| 33,330 35,650 A2,320
& 10,000
Al 23,330
04 J12tHIZ22XsE 33,330 35,650 N2,320
OEXE 2t s82e|o1g X3
33,330, 000& x 14! 33,330
& 10,000
Al 23,330
201 LBtEHH| 1,000 0 1,000
= 300
Al 700
01 AFR22t2|H] 1,000 0 1,000
OEXE I Eg2e| st38H 2272
1,000,000& 14! 1,000
& 300
Al 700
()AL QIE=sHAL X 3,000 4,500 A1,500
J| 2,100
& 270
Al 630
307 QI2t0| & 3,000 4,500 21,500
J| 2,100
= 270
Al 630
02 QI AAIE B 3,000 4,500 21,500
ORISR A BISSASH) KB
1,000,000 *34 2 3,000
J| 2,100
= 270
Al 630
()8t A S35 &2 AIH(E2) 107,500 50,000 57,500
= 43,000




SA: 230Dt
Y PINLH L HS(25L D/ 25H)
cel: KEese (chel: x421)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 19,350
Al 45,150
307 BIZHOIA 107,500 50,000 57,500
2 43,000
= 19,350
Al 45,150
02 BIZIZAAIIE T 107,500 50,000 57,500
OB DN ALSTHE S AL (A AAR)
57,500,0002* 14! 57,500
2 23,000
= 10,350
Al 24,150
OB DNALIHESAIR (S50, ZII5H0,
=88u) 50,000,000&* 14| 50,000
2 20,000
= 9,000
Al 21,000
(2) MM THAY 102,500 147,500 45,000
2 41,000
= 18,450
Al 43,050
307 QIZHOIX 102,500 147,500 45,000
2 41,000
= 18,450
Al 43,050
02 BIZIZAAIIE T 102,500 147,500 45,000
O=E=F NSMMAIY (HHE H3in2s X3l
£34) 52,500,00024%14] 52,500
2 21,000
= 9,450
Al 22,050
O2UAAL2SI 2 M HAIR (S M2t T M2t
ZEALR 0108D1) 50,000, 0008414} 50,000
2 20,000
= 9,000
Al 21,000
(2)DEHE 2EAY 52,500 0 52,500
2 21,000
= 9,450
Al 22,050
307 IZHOIX 52,500 0 52,500
= 21,000
= 9,450
Al 22,050




SN 2502
I 2HEN 2 MS(2A2Z/28H)
ool mEEsH2kl CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
02 LB AAIEEE 52,500 0 52,500
ONEBNEY BEAR(3DIR] ASTM Se)
52,500,000& 14 52,500
= 21,000
& 9,450
Al 22,050
(2D ESAE LTHAIAR X2 66,400 74,000 A7,600
= 33,200
& 9,90
Al 23,240
401 AIZHIZL S0 66,400 74,000 27,600
= 33,200
= 9,960
Al 23,240
01 Al&H] 66,400 74,000 AT7,600
OXSAE(ZIZAL, HIZAL SAAH ZAL, SI2HAL
A= ETHAIAE S22
66,400,000& 14 66,400
= 33,200
= 9,960
Al 23,240
(2)23H LMAIE |X22l XA 50,000 50,000 0
7l 35,000
T 4,500
Al 10,500
201 28t=3d| 50,000 50,000 0
Jl 35,000
& 4,500
Al 10,500
02 S32gH| 50,000 50,000 0
O23H MM 22| A (23 XAl
SsAlzel) 50,000,000 *14| 50,000
Jl 35,000
& 4,500
Al 10,500
(Z)SRANMBRUADNARZES 134,000 120,000 14,000
= 67,000
Al 67,000
201 28t=3d| 134,000 120,000 14,000
& 67,000
Al 67,000
02 S324H| 134,000 120,000 14,000
Ogt=MEFUIADAARAZES
134,000,000 14! 134,000




2L 23t0=1
I 2HEN 2 MS(2A2Z/28H)
ol REesse (choy: 242
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
& 67,000
Al 67,000
(BINARA2SHE Z AL 85,476 261,800 A176,324
= 42,738
& 12,821
Al 29,917
307 2I2+0| ™ 85,476 261,800 A176,324
= 42,738
= 12,821
Al 29,917
02 QIZHHAAIEE X 85,476 261,800 A176,324
OAIAIS & 2EAIE(S4A
33,634,000 * 14| 33,634
= 16,817
= 5,045
Al 1,772
OAIAIF A SSAIE(L=AH)
51,842,000& 14 51,842
= 25,921
= 7,776
Al 18,145
(BINARAESZLE LA 24,500 39,000 214,500
= 12,250
= 3,675
Al 8,575
201 28t=| 24,500 39,000 14,500
= 12,250
= 3,675
Al 8,575
02 S5=4H| 24,500 39,000 214,500
OMNIse E2XE AH(EH=2MR) 223
24,500,000 * 14| 24,500
= 12,250
= 3,675
Al 8,575
NA=A 22| R 28 74,400 124,400 /50,000
201 28t=3| 9,400 9,400 0
02 S5=4H| 9,400 9,400 0
O=HMAARLZAIZE2E HE
7,000,000 14 7,000
O=ZUAMAISAEZAIZEL S A3
2,400,000 14! 2,400
307 212t01 ™ 65,000 65,000
02 QIZHHAAIEE X 65,000 65,000 0




2A:
X{XH -
o /e

cH):

E3t0li=ut
2L & HS (2L 2/ 23HH)
mE2st 2

HEE

2A - HH . H(SH) - MRAIY - BES Ol AkoH Ol AFon Hlnsz
OALAS SHUAHS ALOFSH] OHIAE (EERE HH)
15,000,000 14! 15,000
OALMS HHIZA SHSIUE(BEE 80%)
25,000,000 * 14180/ 100 20,000
OAS=ANE0IA At 280 §S(228 FA)
30,000,000 * 14! 30,000
HERSHS X TS (S XABAL BE) 307,341 6,000 301,341
401 Al&H| 22| 307,341 0 307,341
01 Al&H] 304,948 0 304,948
OJIEFSAHSE TS SA
205,848,000 x 14! 205,848
OJIEFZAHHIXIE 23 |5iHl 242 AH
99,100,000 * 14! 99,100
03 Al HHI 2,393 0 2,393
OJIEFBAHZREEZA
1,493,000 * 14! 1,493
OJIEFZAHHIXIZ S5 R5HI 222 AH)
900, 0002414l 900
(2)23H 2SESAY 543,739 0 543,739
7l 543,739
401 Al&H| 22| 543,739 0 543,739
7l 543,739
01 Al&H] 543,739 0 543,739
OSUFA SRTIEH THaH=ET
26,681,000 x 14! 26,681
7l 26,681
O”e| E85F U6 Ma=r
41,753,000 x 14! 41,753
Il 41,753
O¥x BAA SR =T
154,273,000 x 14! 154,273
7l 154,273
O¥x 240t2 SRUWEH MaH=r
321,032,000 x 14! 321,032
7l 321,032
(2)25HH HEZHIR HiXl & &2 741,708 0 741,708
7l 370,854
[ 111,254
Al 259,600
101 QI 24H] 739,068 0 739,068
7l 369,534
[ 110,858
Al 258,676
04 JIZHHI2 2RS4 739,068 0 739,068
OZAIRIS(ASNR, BAAL SEAL, 2H0I2)
33,594, 000222 739,068




M 20t
M 2SMEN L MS(2sL2Z/23H)
ol REesse (choy: 242
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
| 369,534
& 110,858
Al 258,676
201 L2 3| 2,640 0 2,640
| 1,320
& 396
Al 4
01 Al 22| 2,640 0 2.640
O2= o aFFY PY
120,000 x22H 2,640
| 1,320
& 396
Al 4
LEEa2e] 84,380 298,100 A213,720
= 5,040
& 25,162
Al 54,178
(Z)RPEHERIINES XS 4,800 4,800 0
& 2,400
Al 2,400
301 LEEBHZ 4,800 4,800 0
& 2,400
Al 2,400
14 JIEt2 &= 4,800 4,800 0
ORYZFMNERA S XA
400,000 %1 Z* 1200 & 4,800
= 2,400
Al 2,400
(Z)PEH2STBIHAL 2,500 2,500 0
& 1,250
Al 1,250
301 LEBAZ 2,500 2,500 0
& 1,250
Al 1,250
14 JIEI2 &= 2,500 2,500 0
OSE 25T ZHA| K&
2,500,000 *14! 2,500
= 1,250
Al 1,250
(Z) =2 HOIEHAKA 67,000 74,000 A7,000
& 20,000
Al 47,000
307 SI2t01 & 67,000 74,000 A7,000
& 20,000




2L 23t0=1
I 2HEN 2 MS(2A2Z/25H)
el esesHe (choy: 242
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Al 47,000
04 CIZFEIATAI B X 67,000 74,000 A7,000
OZ2H DI=#A NI
67,000,000 % 14! 67,000
= 20,000
Al 47,000
(R)0IAPERULZSHAL (=AM E HIE2A) 10,080 16,800 26,720
= 5,040
= 1,512
Al 3,528
201 28H=3| 10,080 16,800 26,720
= 5,040
= 1,512
Al 3,528
02 S5=4H| 10,080 16,800 26,720
Ost=2ME Mgl g=254
10,080,000+ 14 10,080
= 5,040
= 1,512
Al 3,528
=3 23| 4,286,720 2,796,000 1,490,720
= 2,934,888
= 675,915
Al 675,917
()N ESHES (L2 22 2|28d) 200,000 0 200,000
= 60,000
& 70,000
Al 70,000
402 BItA=01 M 200,000 0 200,000
= 60,000
& 70,000
Al 70,000
02 QIZEXH=AL 22 (01 THE) 200,000 0 200,000
ORAA g2 2wy &)
200,000,000 14! 200,000
= 60,000
& 70,000
Al 70,000
(D2 SNE=(FHIES(28) BE=XIZ) 34,700 70,000 /35,300
= 24,290
& 5,205
Al 5,205
401 AIZHIZL S0 34,700 70,000 /35,300
= 24,290




A 250D
Y RSWEN L IS(2HL2Y/25H)
el 23 2+ (CHR: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
[ 5,205
Al 5,205
01 Al&H] 34,700 70,000 135,300
O J|E2(AS) MAIZI(IE &R “EILR)
4,500,000 * 14! 4,500
= 3,150
[ 675
Al 675
O J|E2(AS) MAIZ2I(DE EHE2| “EILR)
7,400,000 %14l 7,400
= 5,180
[ 1,110
Al 1,110
O JI|E2(AS) MAIZRI(IE Hate| ZRUR)
7,800,000 %14l 7,800
= 5,460
[ 1,170
Al 1,170
OYZE chE=2| “EILIR ALY RIZ AR
15,000,000 14l 15,000
= 10,500
[ 2,250
Al 2,250
(RS ES (=S Hat D2 HH|) 86,000 0 86,000
= 60,200
[ 12,900
Al 12,900
207 S1RIHEH 50,000 0 50,000
= 35,000
[ 7,500
Al 7,500
01 HAEAH| 50,000 0 50,000
O3 H7S L M 5IRII=E =F
50,000,000 x 14! 50,000
= 35,000
[ 7,500
Al 7,500
401 Al&EHI L2 0HH 36,000 0 36,000
= 25,200
[ 5,400
Al 5,400
01 Al&H] 36,000 0 36,000
O1905 8 A2 XAt 18,000,000 % 14! 18,000
= 12,600




SA: 25H0a
M SFHWEA L HS(2FHL2AZ/25HH)
S©elr 25t E4FH| (crel: 22l
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
[ 2,700
Al 2,700
O1885 2 AlZ2XAt 18,000,000 x 1Al 18,000
= 12,600
[ 2,700
Al 2,700
()Y LI ES (PH0S MAHel =4) 114,230 328,000 A213,770
= 79,91
[ 17,134
Al 17,135
401 A& B2 0HY] 114,230 328,000 A213,770
= 79,961
[ 17,134
Al 17,135
01 Al&H] 114,230 328,000 A213,770
OXNZHel 22X i 84,230,000 % 14! 84,230
= 58,961
[ 12,634
Al 12,635
OMAEHel £X XNES e
30,000,000 * 14! 30,000
= 21,000
[ 4,500
Al 4,500
()2 H LI ES (Y 2H02 =01y D)) 220,000 220,000 0
= 154,000
[ 33,000
Al 33,000
402 QI2EXH20] M 220,000 220,000 0
= 154,000
[ 33,000
Al 33,000
02 QIZFRFE A E AR (0| M THS) 220,000 220,000 0
ORA&0E ZJ0191D|
220,000,000 x 14! 220,000
= 154,000
[ 33,000
Al 33,000
(2)2IHSIWES (I 2H0I2 Y T4) 800,000 0 800,000
= 560,000
[ 120,000
Al 120,000
401 Al&HIL20HY] 800,000 0 800,000




PN 23H0=t
T SHYST Y WS(SHUVR/2)
cHel: 25 243 (chol m=)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
= 560,000
& 120,000
Al 120,000
01 AlEH| 794,960 0 794,960
OYx M08 EXE X4
800,000,000 *14]%99.37/100 794,960
= 566,472
[ 119,244
Al 119,244
03 Al&SOHH 5,040 0 5,040
OYx M08 FXE X4
800,000,000 & *14]%0.63/100 5,040
= 3,528
& 756
Al 756
(=)2INE 2SN ES(RE0IS DI2IIEHAIE HBISAH 2,200,000 0 2,200,000
= 1,540,000
& 330,000
Al 330,000
401 Al&HIZ 20| 2,200,000 0 2,200,000
= 1,540,000
& 330,000
Al 330,000
01 AlEH| 2,192,080 0 2,192,080
OZ= 2402 OtSJIBtAIE ZHl SAt
2,200,000,000&*14]%99.64/100 2,192,080
= 1,534,456
& 328,812
Al 328,812
03 Al 2201 7,920 0 7,920
OZ= S40I= OtSJIBtAlIE ZHl SAt
2,200,000,000&*141%0.36/100 7,920
= 5,544
& 1,188
Al 1,188
(=2)EES2 Molls7A 47,280 0 47,280
= 47,280
401 Al&HIZ 20| 47,280 0 47,280
= 47,280
01 Al&H| 47,280 0 47,280
O3LEA S20loH o=+
18,097,000& 14! 18,097
= 18,097




2N 25H0ST
M 2SMEN L MS(2sL2Z/23H)
cHel: 25 243 (chol m=)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
Odel =& S0l M=+
29,183,000 *14] 29,183
= 29,183
(D)2 E 2 E (Y UIZ2AF A Z0101EH i ZHaH 178,000 178,000
2 MIY|ZALIERA FLURST L II=G})
= 124,600
& 26,700
Al 26,700
402 QIZERHE01A 178,000 178,000
= 124,600
& 26,700
Al 26,700
02 QIZENEAMLE R (01X M) 178,000 178,000
OZ = HIZA AZ0H0IEFOI A 2 A
HIZXLE St HYRCE 2 J|1E5)
178,000, 0003 * 14 178,000
= 124,600
& 26,700
Al 26,700
(D)2 E 2SN ES (A BB FUAE) 120,000 120,000
= 84,000
& 18,000
Al 18,000
401 Al&HIZ 20| 120,000 120,000
= 84,000
= 18,000
Al 18,000
01 Al&H| 120,000 120,000
ORAA B2 HIAE
120,000, 0002 * 14 120,000
= 84,000
= 18,000
Al 18,000
(D)2HNE 2SN E S (SAAL AR FUAE) 120,000 120,000
= 84,000
= 18,000
Al 18,000
401 AEBIZ 20| 120,000 120,000
= 84,000
= 18,000
Al 18,000
01 Al&H| 120,000 120,000
OSAA o2 HUME
120,000, 0003 * 14 120,000




PN 23H0=t
T SHYST Y WS(SHUVR/2)
cHel: 25 243 (chol m=)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
= 84,000
& 18,000
Al 18,000
(2)2INB 2SN E S (ESAL SEOL0IEHH I BE 130,000 0 130,000
Xel)
= 91,000
& 19,500
Al 19,500
402 QIZERHE0| A 130,000 0 130,000
= 91,000
& 19,500
Al 19,500
02 QIZENEAMSE R (01X M) 130,000 0 130,000
OSA At SEOI0IEIH XA 2&EH2]
130,000, 000& * 14! 130,000
= 91,000
& 19,500
Al 19,500
(22N SSAWE S (SEA SE0HEY 2EHL) 3,510 0 3,510
= 25,557
& 5,476
Al 5,477
402 QIZERHE0| A 36,510 0 36,510
= 25,557
= 5,476
Al 5,477
02 CIZEXI=2AIH B (0| M THS) 36,510 0 36,510
OSAAL Sx0cizat BExe2
36,510,000 * 14 36,510
= 25,557
= 5,476
Al 5,477
NMIHR A BE2t2] 353,000 400,000 A47,000
= 247,100
= 31,770
Al 74,130
(DINMASLABE2L| (RLA AIRS A BE=Ha) 30,000 0 30,000
= 21,000
= 2,700
Al 6,300
402 CIZHRHE0|N 30,000 0 30,000
= 21,000
& 2,700




2L 23t0=1
I 2HEN 2 MS(2A2Z/25H)
SRl MR BE) (chel: @)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Al 6,300
02 BIZAHE ARG 2 (01X THA) 30,000 30,000
ORA AE2s BEH2)
30,000,000 % 14! 30,000
= 21,000
& 2,700
Al 6,300
(SVHASLASE 22| (FAA A FHEH]) 16,000 16,000
= 11,200
S 1,440
Al 3,360
402 BIZtAH=01 M 16,000 16,000
= 11,200
S 1,440
Al 3,360
02 QIZEXH=AIS 22 (0™ THE) 16,000 16,000
ORAAL DAY =HEH|
16,000,000&*14] 16,000
= 11,200
S 1,440
Al 3,360
(IMAFLEZ 2R (RAA BU FHEHI) 240,000 240,000
= 168,000
& 21,600
Al 50,400
402 BIZtA=01 M 240,000 240,000
= 168,000
= 21,600
Al 50,400
02 QIRIXFEAIE E (01X THR) 240,000 240,000
OR4AL U F=HEH
240,000,000 14! 240,000
= 168,000
= 21,600
Al 50,400
()AASLLEZ2R(RAA BU A2 FHI) 45,000 45,000
= 31,500
= 4,050
Al 9,450
402 212tXH=01 S 45,000 45,000
= 31,500
= 4,050
Al 9,450
02 BIZAHE ARG 2 (01X TH) 45,000 45,000




SA: 25H0a
M SFHWEA L HS(2FHL2AZ/25HH)
CHlr NIHIRA BERR (crel: 22l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OSAAL U &2 HU|ZAF
45,000,000 * 14! 45,000
= 31,500
[ 4,050
Al 9,450
(2)MHSMBEDC (AN 28 TLIEHZ 29) 22,000 0 22,000
= 15,400
[ 1,980
Al 4,620
401 Al&HIL S 0HY] 22,000 0 22,000
= 15,400
[ 1,980
Al 4,620
01 Al&H| 22,000 0 22,000
OASANS Aste DLIEY 29
22,000,000 % 14| 22,000
= 15,400
[ 1,980
Al 4,620
29 2AH| (23510120 (DIEHIIEH 134,814 131,382 3,432
DI 134,814 131,382 3,432
BIEEE] 134,814 131,382 3,432
201 LB 34,79 31,362 3,432
01 AlR2t2|H| 34,79 31,362 3,432
O=S AR 72 (M)
20,0002 x228FAx 12 5,280
OS20HAHI 8,000 +7Ax20 T x 122 14,784
@ S 100,000 %122 1,200
OARZ TARYH 50,00081% 12 600
OAAZ 2=4H 10,290
—=ZADI(UE) 22
1,000,000 % 1.5CH 1,500
—ZelBDl =l 100, 00024 *5CH*50/ 100 250
—=AD| €4 200,0002%53]*1.5CH 1,500
—Z2IEI(EW) EY
200,00024%55] *5H 5,000
—DRIEDI(ZY) EY
200,00024%55]*1CH 1,000
—PC =l 100, 0002220120/ 100 440
—J|Et ==2lb] 50,0002 *12& 600
OJIEH AFR2e|d] 10,0002 x20 3«12 2,640
202 Ot 87,120 87,120
NENE 87,120 87,120 0
O2tLjoddl 20,0002 %22 » 122 %122 63,360
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